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T QRS
A AZYRAZH(HUS XA (DIEH/IIEH)
&elr D=3l (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b Il & o SimE==t
OSU MY L= AIRES F
20,0002 +2H = 12742 +80/100 384 334
202 04t 2,286 2,286
01 2oL 2,286 2,286
OSUMoHE HRFA 2L SH0I
20,0002 =2 92 127§ 2 x30/100 1,296 0 1,29%
OSUMoHE HRFA 22 EF0iH]
110,000 x2 & »32! %53 %30/100 990 0 990
l2dtl(nsdse) 12,033 0 12,033
201 Zet=d] 4,032 0 4,032
01 Al2telsl 4,032 0 4,032
OuLSHHE 2T S
8,000 *7H+602 +80% 2,688 0 2,683
OnSdYE LR ARES 7€
20,0003 *7H* 122 «80% 1,344 0 1,344
202 04l 8,001 8,001
01 2LHA Y] 8,001 8,001
OuSYESF =& 2O
20,0002 +7 H*9L x 122 +30% 4,536 0 4,536
OuSYF =4 22104l
110,000 7 *32 55 x30% 3,465 0 3,465
SUMcHO g (LEts38 Y/ L d) 84,668 0 84,668
SCHAHOH Ol 84,668 0 84,668
SO ole & 28 AR 84,668 0 84,668
201 Zet=d] 84,668 0 84,668
01 AlR2telsl 84,668 0 84,668
OtMLAHEE 7Y 5,000,000 22 10,000 0 10,000
OSUHatoY 822 ¥ =g ME
2,500,000 43 10,000 0 10,000
OMtH I E A3 2
300,000 x43 1,200 1,200
OAY 2184 EJt 12,000,000& 13 12,000 12,000
OdHtHEHY 2R u=
3,000, 000& 43 12,000 0 12,000
Odtotd ol SaA2e| Xt el
11,0008 x299Z 120 & 39,468 0 39,468
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